sum= 0.0; na = 1; nb = 1;
¢ = el enent sA[ na] - >i ndex; # colum in row of A
r = elenentsB[i][nb]->ndex; # rowin colum of B
while (na <= I engthA and nb <= | engt hB) {
if (r ==¢) {
sum += el ement sA] na] - >val ue *
el ement sB[i ][ nb] ->val ue;
na++; nb++;
¢ = el enent sA[ na] - >i ndex;
r = elenentsB[i][nb]->i ndex;
} elseif (r <c) {
nb++; r = el enmentsB[i][nb]->i ndex;
} else { #r >c¢
na++; ¢ = el enent sA[ na] - >i ndex;
}
}
if (sum!=0.0) { # extend row of C
elementsC |l engthCl] = pair(i, sunm;
| engt hC++;
}

Inner product code for Worker i in sparse matrix multiplication.

Copyright © 2000 by Addison \&sley Longman, Inc.



